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Use Bl.ulc/BluL mar ker forshading unly one bubble for each question. No matk will be awarded for Cutting,

erasing, overwriting, and multiple bubble shading.
Choose the correct option L A,B,C,and D,

" Matrices oforder 1-by-2,.1-by-3 are called oo
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Which ol the ﬁ)lluwmy represent the sides ol atriangle '
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Perpendicular [vom a vertes of atrigugle wits-opposite side.is called oo, ST
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L practical geomelry, I is necessary Lo WELE o s
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- Time Allowed: 2:40 Hrs Section~-B&C ‘ Total Marks: 60
"Sectlon - B” i Marks: 36

Q.2 Wrlte shortanswer of any NINE of the following parts, Kach part carrles equal marks,
[2p -3 ' :
i Find the fnverse of A = p q] yg#0 L Stmplify Y ixt
r q

it Find the productof 2437, 4~5; '
v, Simplify with the help of logarithim (238.2)(9,506)

(23.60)(8.719)°

e

V6.93
vl Subtract 25" —4x? + x+5 from 5x° +2x% +7x -3 _
vil.  Find the value.of ab+be+ca where a+b+¢ = ldand a? +b0% +¢% =78

1
viil, 1 x = +/10 +3 find the value of x-——]- and x? +—
X X

v, Simplify with the help of logarithm

X+ X~y
. . Ix+2y 3x+2y
%l Age of brother fs twice the age of his sister. Three years back, age of brother-was three times
the age of his sister, Find their present ages? '
xli.  Ifwidth of a roum Is one fourth of its lengthand Lhe perimeter of the room is 20m. Find the
length and width of the room,

ix.  Factorlze ac -+ ad +be+ bd : X. Stmplify

"Sectlon-¢" Marks: 24
NOTE: Attempt any THREE questions, Each question carries equai marks,
Q.3 Find the in-center of the triangle ADC with A {2,3), B(1,4) aud C (0, 5) its vertices. N
Q Prove that the line segment, juinlng the midpoints of two sides of a triangle, is parallelto'the third
... sideand is equal to one halfofits length, 0T R
Q-5 - Bisectors f<B, <Cand <D uf a quadrilateral ABCD nicet oach other a1 0. Prove that O'lics on the

bisector of <A, ' .

Q.6 Prove thata right-angled triangle, the square of the length of hypotenuse is equal to the sum of the

squares of the lengths of the other two sides.



